| Efficiency vs Dxy |

.02
<
o
®»018
>

@016

Q) -
@014

=
(5]

0.012

0.01
0.008
0.006

0.004F

0.002f =+ ereesiorseedenseodnens bbb

.9L.O;IIII:IIII:IIII:IIII:III:IIII:IIII:IIII:IIII:IIII

T _E

m 2__ ........................................................................
155_ ........................................................................

-----------------------------------

-----------------------------------

—2520151050 510152025

TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_V0001_R000000001__Global
—e— DQM_V0001_R000000001__Global

__mkFitOLD__RECO
__mkFit100__RECO
__mkFit100tobtec_

RECO

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04
0.03
0.02
0.01]

o+

L *
B H : +| &

SRR R TR PP T * 4} - B CETEEEEEE PP PP

10 0 10 20 30
TP dz (cm)

—«— DQM_V0001_R000000001__Global




	Contents
	Page 1


